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5153,04745,86752,01396,00059,0 234
2 HHHHP
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Pochylenie

[%]
Pole powierzchni [m2]

2

0% P
2
 = 1,6563H2 + 6,1217H + 1,8389 R² = 1

1% P
2
 = 1,6561H2 + 6,1085H + 1,8397 R² = 1

2% P
2
 = -0,0059H4 + 0,1397H3 + 0,6755H2 + 8,4762H + 0,5153 R² = 1

3% P
2
 = -0,006H4 + 0,1417H3 + 0,676H2 + 8,4536H + 0,5506 R² = 1

4% P
2
 = -0,0063H4 + 0,1479H3 + 0,6482H2 + 8,4962H + 0,5739 R² = 1

5% P
2
 = -0,0068H4 + 0,1554H3 + 0,6293H2 + 8,4846H + 0,6468 R² = 1

6% P
2
 = -0,0068H4 + 0,1562H3 + 0,6332H2 + 8,4776H + 0,672 R² = 1
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